Code:

MID-WEST UNIVERSITY
SCHOOL OF MANAGEMENT (MUSOM)

Graduate Management Admission Test (GMAT)
For MBA 2080 (12 Batch

Office of the Executive Director

Birendranagar, Surkhet, Nepal
2024 (2080 BS)

Name of Examinee

Exam Roll Number



Code:

Instructions

Read the following instructions and answer the questions.

Time : 2 Hours
Full Marks :90
Pass Marks : 36

Test covers following five sections.

Section A : Verbal Reasoning
Section B : Quantitative Ability
Section C  : Logical Reasoning
Section D  : General Awareness

Section E  : Analytical Essay Writing

Important Instructions

e Write your Exam Roll Number on the Answer Sheet.
e Complete the test within 2 Hours.

e Attempt all questions.



Section A: Verbal Reasoning (1x20=20)

Tick the Correct Answer.
. Which of the following word best expresses the meaning of 'ABANDON'?

a. Kidnap c. Hatefuld
b. Steal d. Give up

. The opposite meaning of the ' BABAROUS' is .
a. Civilized c. Cultural
b. Traditional d. Educated

. Which of the following word is interpreted best by this explanation 'A complication of
any type of literature'?

a. Unanimous c. Anthology
b. Irrevocable d. Obsolete
. Tick the best preposition in the blank' the monsoons, we should carry
umbrella'.
a. for c. during
b. from d. in

. Which of the following means 'to let the grass grow under one's feet'?

a. To take advantage from situation c. Toidle away time
b. To work cautiously d. To work on a job below the dignity
. What is the meaning of 'the rest is history'?
a. History takes rest c. To avoid historical facts
b. Known to everyone d. History repeats itself
. The word 'entice' means
a. to attract c. tonotice
b. to disturb d. to irritate
. The synonym of the word 'derivative'
a. unoriginal c. solution oriented
b. flexible d. multiple way out
. Jessica Mitford wrote The American Way of Death, a best-selling book to an
official investigation of the funeral industry.
a. that had led eventually c. which eventually led
b. that eventually led d. who eventually led
10. By next month, Mr. Khatri for four years.
a. will be being Mayor of Birendranagar
b. will have been Mayor of Birendranagar
c. will be mayor of Birendranagar
d. could have been mayor of Birendranagar
11. I will not talk to him he apologizes for what he did.
a. until c. while
b. after d. because
12. Your statement is very much similar Mine.
a. of c. to

b. on d. about



13. The term 'Theist' refers to the person

a. who believes in the presence of God

b. who believes in the theory of only one God

c. who believes in many Gods

d. who believes that God is union of all forces of the universe
14. Something is under the cloud means

a. to be a secret c. to be under suspicion
b. amazing d. feel good factor
15. Nepal has abundance water resources.
a. for c. of
b. with d. onto
16. The meaning of 'suffocate’
a. rest c. difficult to breath
b. luxury d. emotional
17. Are you travelling to Pairs holiday?
a. in c. to
b. on d. for
18. Which of the following is one-word substitution to the phrase 'One who knows
everything'?
a. Literate c. Omnipotent
b. Scholar d. Omniscient
19. Which of the following is the correct preposition in the blank of the sentence 'What is the
cause the problem"?
a. of c. about
b. to d. in
20. What is the correct proposition in the blank of the sentence 'Go these stairs until
you reach the top floor?
a. through c. up
b. in d. on

(1x20=20)

22. The number of even prime number is
a. 1 c. 3
b. 2 d 0
23. The quadratic equation x> + 1 = 0 has
a. Real roots c. Imaginary roots
b. No roots d. One real and one imaginary roots
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The sum of first 10 natural number is .
a. 45 c. 55

b. 50 d. 60

Which of the following relation is true?

a. AM>HM>GM c. AM<GM<HM
b. GM>HM>AM d. HM<GM<AM
How many even numbers are there between 25 and 115?

a. 43 c. 45

b. 44 d. 46

The logarithm of 1000 with respect to base 10 is

a. 0 c. 2

b. 1 d. 3

8 bus run between Kathmandu and Pokhara. In how many ways can a man travel from
Kathmandu to Pokhara and return by a different bus?

a. 48 c. 56
b. 49 d. 64
If the average of 5, 6, 7 and y is 8, what is the value of y?
a. 12 c. 14
b. 13 d. 15
The average of a and b is 22. If b = 10 then a =?

a. 24 c. 32
b. 28 d. 34

. Find the median of 5, 7, 8, 4, 2.

a. 2 c. 7
b. 5 d. 8

Which relation is correct?

a. 2 Mode =3 Mean — 2 Median

b. Mode =3 Mean — 2 Median

¢. Mode =3 Median — 2 Mean

d. 2 Mode = Median — 3 Mean

If 15 man can finish a work in 16 days, in how many days will 8 men finish the same
work?

a. 15 c. 25

b. 20 d. 30
What percent is Rs. 24 of Rs. 75?

a. 32% c. 34%

b. 33% d. 35%
Which of the following is smallest?

a. 5/6 c. 7/8

b. 6/7 d. 89

The interest on Rs.100 for 1 year is called .

a. Rate c. Amount

b. Time d. Percentage



37.1f a loss of 25% is borne by selling a bicycle for Rs. 720, what is the cost price of the

cycle?

a. Rs.960 c. Rs.890

b. Rs. 906 d. Rs. 950
38. What is the probability of impossible event?

a. 0 c.

b. 1 d. undefined
39. What is the probability that a year contain 53 Friday?

a. 2/7 c. 13

b. 1/365 d. 1/7
40. Three coins are tossed simultaneously. Find the probability of getting all heads.

a. 3/8 c. 13

b. 1 d. 1/8

Section C: Logical Reasoning [1x20=20]

Direction for 41-43: based on Questions and the arguments that follow, choose the
appropriate answers.
41.1s it essential to ensure that all food supplied for consumption remains sufficient
unadulterated and uncontaminated?
Arguments:
I.  First fundamental right under the Constitution sets down that every citizen has a
right to life.
II.  Virtually all items of food in India have chemicals or adulterants
a. Only argument [ is strong.
b. Only argument II is strong.
c. neither I nor Il argument is strong
d. both I and II argument are strong
42. Should Nepal make Cyber Security Policy?
Argument:
I.  Yes, itaimed at protecting public and private infrastructure from cyber-attacks.
II.  Yes, this policy also intends to safeguard “information such as financial and
banking information and sovereign data”.
a. only argument [ is strong.
b. only argument II is strong.
c. neither I nor Il argument is strong
d. both I and II argument are strong
43. Should government encourage Foreign Direct investment?
Argument:
I.  No, it will not help the domestic Trader.
II.  Yes, it will boost growth.
a. only argument [ is strong. c. neither I nor II argument is strong
b. only argument II is strong. d. both I and II argument are strong
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Based on the statements of questions 44 and 45choose the correction alternatives.
I work very hard whenever there is a need.

a. Iwork very hard and there is a need.

b. 1did not work hard and there is no need.

c. 1did not work hard as there is no need.

d. Bothbandc

Amit introduces Rahul as the son of the only brother of his father’s wife. How is Rahul
related to Amit?

a. Cousin c. Uncle

b. Son d. Son-in-law

Direction for 46- 53: In each question match the correct pair of statements (i, ii, iii
and iv) according to propositions in the questions.
I wear a pad every time I bat.
i. I batted.
ii.  Idid not bat.
iii. I wore a pad.
iv. I did not wear a pad.

a. Ii-iv c. iv-ii
b. iii-I d. i-iv
I get cold feet whenever I see a lion.

i.  Isawa lion.

ii.  Idid not see a lion.
iii. I got cold feet.
iv. I did not get cold feet.

a. iii-I c. 1v-il
b. ii-iv d. ii-iii
I can see the star only if I go to the planetarium.

i. I went to the planetarium.
ii.  Idid not see the star.
iii. I saw the star.
iv.  1did not go to the planetarium.

a. 1i-iv c. i-ii
b. iv-ii d. iii-iv
I can find Chinese toys only if I go to the fair.

i.  1did not find Chinese toys.
ii. I found Chinese toys.
iii. [ went to the fair.
iv.  1did not go to the fair.



50. Raju gets a mild flu whenever he eats an ice cream.
i.  Raju gets a mild flu.
ii.  Raju does not eat an ice cream.
iii.  Raju does not get a mild flu.
iv.  Rajuate an ice cream.
a. i-ii c. i-iii
b. iv-iii d. iii-ii
51. When I see an RRR movie I have a bad dream.
i.  Isaw an RRR movie.
ii. I did not see an RRR movie.
iii. I did not have a bad dream.
iv.  Thad a bad dream.
b. iv-1 d. i-iii
52. Only in Bengal, you can see the Bengal Tiger.
i.  You went to Bengal.
ii.  You did not go to Bengal.
iii.  You saw the Bengal Tiger.
iv.  You did not see the Bengal Tiger.
a. i-iii c. i-iv
b. iv-ii d. ii-iv
53. I will befriend Som only if he returns my book.
i.  Ibefriended Som.
ii.  Som returned my book.
iii. [ would not befriend Som.
iv.  Som did not return my book.
a. ii-i c. 1v-iii
b. ii-iii d. iii-iv

Directions for questions 54 to 55: Read the following passage below and solve the
questions based on it.

A large cube is dipped into a tub filled with color. When the cube is taken out it was
observed that all its sides are painted. This large cube is now cut into 125 small but

identical cubes.
54. How many of the smaller cubes have none of its faces painted?

a. 27 c. 8

b. 64 d. None of these
55. How many of the smaller cubes have exactly one face painted?

a. 49 c. 64

b. 54 d. None of these
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Direction for questions 56-57: Analyze the following statements and give an

appropriate answer for the following questions. Questions are independent to each

other.

“If the forest continues to disappear at its present pace, the Royal Bengal tiger will

approach extinction,” said the biologist. “So all that is needed to save the tiger is to stop

deforestation,” said the politician.

Which one of the following statements is consistent with the biologist’s claim but not

with the politician’s claim?

a. Deforestation continues and the tiger becomes extinct.

b. Deforestation is stopped and the tiger becomes extinct.

c. Reforestation begins and the tiger survives.

d. Deforestation is slowed and the tiger approaches extinction.

All intelligent people are nearsighted. I am very nearsighted. So, I must be a genius.

Which one of the following exhibits both of the logical flaws exhibited in the argument

above?

a. lacocca is extremely happy, so he must be extremely tall because all tall people are

happy.

All chickens have beaks. This bird has a beak. So this bird must be a chicken.

All geniuses are very nearsighted. I must be very near sighted since I am a genius.

d. I must be stupid because all intelligent people are nearsighted and I have perfect
eyesight.

o

Direction for questions 58-60: Read the passage and answer the questions.

Though persons of any age can have cancer, recent research has shown that eating
fiber rich diet may reduce risk of some types of cancer. Modern lifestyle has resulted
in increased consumption of junk food that is low in fiber. We should fortify junk
food with fiber.

“NO JUNK FOOD NO CANCER”!

a. The statement cannot be logically inferred from the passage.

b. The statement is a logical inference form the passage above.

c. The passage has contradicting statements.

d. None of the above

I: Cancer is a modern disease.

II: Modern lifestyle and eating habits may have increased risk of cancer.

a. Both I and II can be logically inferred from the above passage.

b. Neither I nor II can be logically inferred from the above passage.

c. Only I can be logically inferred from the above passage.

d. Only II can be logically inferred from the above passage.

Brushing your teeth regularly, no matter which toothpaste you use, will reduce your
chances of tooth decay. Scientists have concluded that, when you brush, you reduce
tooth decay by removing the film of plaque that forms on teeth and gums. So, you
can forget about fluorides: brush your teeth carefully and say goodbye to cavities.
Which one of the following is a criticism of the reasoning in the argument?

a. Brushing with fluoride toothpaste has been shown to reduce tooth decay.
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b. The fact that brushing will reduce tooth decay does not show that fluorides are of no
value.

c. Few people adequately remove plaque by brushing.

d. People have plaque on their teeth most of the time.

Section D: General Awareness [1x20=20]
Samsung is a/an company.
a. Korean c. British
b. German d. Indian
Which is the first hydropower project of Nepal?
a. Khimti c. Tamor
b. Budi Gandaki d. Pharping
What is the competitor of Chat GPT?
a. Yahoo c. YouTube
b. Gemini d. Google Search Engine
Who is the new Shark in Shark Tank India Season three?
a. Ritesh Agrawal c. Gautam Adani
b. Ashnir Grover d. Vijaya Shekhar Sharma
What is the capital city of Denmark?
a. Madrid c. Budapest
b. Venice d. Copenhagen
Which is the last fiscal year of the 15" periodic plan of Nepal?
a. 2078/79 c. 2080/81
b. 2079/80 d. 2081/82
Which one is the largest commercial bank of Nepal in terms of investment?
a. Civil Bank limited c. Global IME Bank Limited
b. NIC Asia Bank d. Nabil Bank limited
Which is a Japanese brand?
a. Nissan c. Samsung
b. Apple d. Philips
Who is the founder of Toyota Motors?
a. Tami Sahara c. Soichiro Toyoda
b. Kiichiro Toyoda d. Masaki Imai
What is the approximate population of Karnali Province?
a. 12 million c. 19 million
b. 13 million d. 17 million
Which country is the largest trading partner of Nepal?
a. India c. Bangladesh
b. China d. USA

Full form of BIMSTEC is?

a. Bay of Bengal Integration for Multi-Sectoral Technical and Economic Cooperation
b. Bay of Bengal Initiative for Multi-Sectoral Technical and Economic Corporation
c. Bay of Bengal Initiative for Multi-Segment Technical and Economic Cooperation
d. Bay of Bengal Initiative for Multi-Sectoral Technical and Economic Cooperation
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Which is the largest IT company of India in 2023?

a. Infosys c. Hindustan Computer

b. Wipro d. Tata Consultancy Service
Top tourist source market for Nepal is:

a. India c. Singapore

b. UK d. Japan

Which is the headquarters of Mugu?

a. Gamgadi c. Simikot

b. Khalanga d. Mugu

MCC is an abbreviation of an American foreign aid agency. What is its full name?
a. Multilateral Challenge Cooperation c. Millennium Challenge Corporation
b. Multinational Challenge Corporation d. Millennium Cooperation Centre
When was Mid-West University established?

a. 2008 c. 2010

b. 2009 d. 2011

Recently Reserve Bank of India has taken action against one Fintech company. Which
one is this?

a. Paytm c. Policy bazar

b. Bharat pay d. Zeroda

Who is the current finance minister of Nepal?

a. Ram Sharan Mahat c. Purna Bahadur Khadka
b. Prakash Sharan Mahat d. Sudhan Kirati

Which act guides the foreign investment affairs in Nepal?
a. Company act

b. Industrial enterprise act

c. Foreign investment and technology transfer act

d. All of the above



Section E: Analytical Essay Writing (1x10=10)

(Limit of Words up to 300)

Direction: Essay must cover introduction, key points, body presenting examples and

conclusion offering opinion.

1. Write an essay describing your expectations from MBA Program at Mid-West

University School of Management.






